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RRB Level-1 Exam. – Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (c) £y£zöìvÈþyšÏ$þç!îû„þ xÄy!¢vþ îy £y£zöìvÈþyöì‹˜ öšÏþyîûy£zvþ (HF)
˜yöì› þ™!îû!‰þ“þ ~£z öëï†!Ýþ @Õyöì¢îû !¢!œ„þyîû ¢yöìí !î!e«ëûy
„þöìîû ~„þ!Ýþ šÏ$þ !¢!œöì„þÝþ œî’ ÷“þ!îû „þöìîû ëyîû ‡˜c @Õyöì¢îû
“%þœ˜yëû „þ›– “þy£z ~!Ýþ !”öìëû @Õyöì¢îû †yöìëû ˜„þŸy x¤y„þy
¢½þîÐ

2. (b) xÄy!vÈþöìëû̃  öîÊy!vþ x!¦þ˜#“þ ~î‚ îÊÄy!vþ „þîûöìîÝþ þ™!îû‰þy!œ“þ
~£z Šé!î!Ýþîû ‹˜Ä vþz¦þöìëû£z ëíye«öì› ö¢îûy x!¦þöì̃ “þy ~î‚
ö¢îûy þ™!îû‰þyœöì„þîû þ™%îûßþñyîûç !‹öì“þöìŠé˜ ~£z ö†yöìÓþ˜ ö@Õyî
2025 xÄyçëûyöìvÅþÐ

3. (a) 1774 ¢yöìœ xy!îÜ,ñ“þ £ëû x!:öì‹˜Ð
4. (d) ö”Ÿœy£z îyöì:îû ßþTÉy£z!„þ‚ ö”çëûyöìœ œyœ šþ¢šþîûy¢ íyöì„þ

~î‚ ö”Ÿœy£z „þy!àþîû ›yíyëû ¢yœšþyîû– ¢yœšþy£zvþ ç
þ™Ýþy!Ÿëûy› ö„ÏþyöìîûÝþ íyöì„þÐ ëyöì”îû ‡¡ìÅöì’ œyœ šþ¢šþîûy¢
ö¦þöì̂  ¢y”y šþ¢šþîûyöì¢ îû*þ™yhsþ!îû“þ £ëû ~î‚ ¢y”y šþ¢šþîûy¢
îy“þyöì¢ ‹µöìœÐ

5 (d) çöì‹yöì̃ îû †àþ˜y„,þ!“þ £œ ö„þï!’„þÐ ëyîû ÷”‡ÅÄ ²Ìyëû 1.278
xÄy‚ßþTÉ›Ð

6. (d) vþzF‰þ“þîû þ™yîû›y’!î„þ ¢‚…Äyîû „þyîûöì’ ~:éôéöîû ~î‚ †y›yéôéöîû
²Ì¦þyî £Éy¢ „þîûöì“þ ¢Çþ› !¢¢yÐ

7. (c) òö£˜!œ þ™y¢öìþ™yÝÅþ £z̃ öìvþ: 2025éó “þy!œ„þy¦%þ_« 227!Ýþ
ö”öìŸîû ›öì•Ä 195!Ýþ ö”öìŸ !¦þ¢y›%_« ²ÌöìîŸy!•„þyîû öþ™öìëûöìŠé
!¢Dyþ™%îûÐ

8. (b) C10H8 ~îû ²Ì•y˜ vþzê¢ £œ xyœ„þy“þîûyÐ
9. (b) 1895 ¢yöìœ X-îû!ÙÂ xy!îÜñyîû „þöìîû̃  îûrÝþöì‹˜Ð
10. (d) 1935 ¢yöìœ ö›¢˜ „þ’y xy!îÜñyîû „þöìîû̃  £zvþz„þyçëûyÐ
11. (d) ‹y›Åy˜ þ™”yíÅ!îKþy˜# ‹‹Å ¢yëû›˜ ç£öì›îû ˜y›y˜%¢yöìîû ~£z

~„þöì„þîû ˜y›„þîû’ „þîûy £öìëûöìŠéÐ
12. (a) öîûy•yöìBþîû ~„þ„þ ohm-mÐ ~!Ýþ SI ~„þ„þÐ
13. (a) 1988 ¢yœ öíöì„þ ²Ì!“þîŠéîû ¢yîûy !îÙ»‹%öìvþü òçëûyÓþÅ ~£zvþ¢

övþó þ™y!œ“þ £ëû 1 !vþöì¢ÁºîûÐ
14. (d) vþzœ “þyöìþ™îû „%þþ™!îûîy£# “þy£z vþzöìœîû öþ™yŸy„þ þ™îûöìœ ö”öì£îû

“þyþ™›yey îy£zöìîû öîîû £öì“þ þ™yöìîû ˜yÐ
15. (d) š%þ¢š%þ¢öì„þ ¢y£yëÄ„þyîû# öîû‰þ˜ xD îöìœÐ
16. (b) öœy!£“þ îû_«„þ!’„þy š%þ¢š%þ¢ öíöì„þ x!:öì‹˜ Ÿîû#öìîûîû

ö„þyöìŸ î£˜ „þöìîû ~î‚ „þyîÅ̃  vþy£zx:y£zvþ î£˜ „þöìîû š%þ¢š%þöì¢
öŠéöìvþü ö”ëûÐ ›y˜îöì”öì£îû îûöì_«îû ²Ìyëû 40% öœy!£“þ
îû_«„þ!’„þy íy„þyîû ‹˜Ä îû_« œyœ ö”…yëûÐ

17. (d) ~öì”îû ›öì•Ä ›)œ“þ ›Äy†öì̃ !Ÿëûyöì›îû ‡yÝþ!“þ £öìœ þ™y“þyëû
xþ™ëÅy® ö„Ïþyöìîûy!šþœ ÷“þ!îû £ëû ëyöì“þ †yöìŠéîû þ™y“þyîû ßþºy¦þy!î„þ
¢î%‹ îûöì̂ îû ‡yÝþ!“þ £ëûÐ ~îû šþöìœ ö„Ïþyöìîûy!¢¢ £ëûÐ

18. (a) ~!Ýþ vþz!qöì”îû î,!kþ !˜ëûsþföì’ ²Ì•y˜ ¦)þ!›„þy þ™yœ˜ „þöìîûÐ
19. (c) xyöìœyîû œyœ îûöì̂  ~î‚ öî=!˜ îûöì̂  ëíye«öì› ¢îöìíöì„þ

öî!Ÿ ~î‚ ¢îöìíöì„þ „þ› ¢yöìœy„þ¢‚öìÙÕ¡ì £ëûÐ
20. (a) xî“þœ öœª ›yöìëûy!þ™ëûy !˜îûy›ëû „þöìîû ˜y îîû‚ ~!Ýþ ö‰þyöì…îû

²Ì!“þ¢îû’„þyîû# e&!Ýþöì„þ ¢‚öìŸy•˜ „þöìîû ¢‚!ÙÕÜT îÄ!_«öì„þ ”)öìîûîû
îlßþ=!œ ßþ™ÜT¦þyöìî ö”…öì“þ ¢y£yëÄ „þöìîûÐ

21. (c) †Äyœ¦þy˜y£zöì‹Ÿ˜ ²Ì!e«ëûyëû !‹Bþ îy ”hßþy !”öìëû öœy£yîû
çþ™îû ²Ìöìœþ™ ö”çëûy £ëûÐ

22. (c) þ™ëÅyëû ¢yîû!’îû ¢!õþ†“þ ö›ïœ=!œîû ›y•Äöì› “þ!vþüê }’yd„þ
~î‚ “þ!vþüê •˜yd„þ ö›ïöìœîû ›öì•Ä ¢!õþ †!àþ“þ £ëû îöìœ
~öì”îû ¢!õþ†“þ ö›ïœ îöìœÐ

23. (d) vþ­ ‹Äy„þ!œ˜ !vþóxÄyöìîûy‹ !£vþzöì‹¢ £zrÝþyîû̃ ÄyŸ˜yœ e«þ™¢
!îû¢y‰Åþ £z̃ !ÞÝþ!ÝþvþzÝþ šþîû ”Ä ö¢!›xÄy!îûvþÝþÆ!þ™: (ICRISAT)
éôé~îû ²Ìy_«˜ !vþöìîûQîû ö‹˜yöìîûœ ~î‚ !îÙ» „,þ!¡ì öšþyîûyöì›îû
(WAF) î“Åþ›y˜ ›£y¢!‰þîÐ

24. (c) xy!„Åþ!›!vþöì¢îû ¢)e x˜%ëyëû# ö„þyöì˜y îlßþ ¢Á™)’Å îy
xy‚!Ÿ„þ¦þyöìî “þîûöìœ !˜›!I“þ £ëû– “þ…˜ ~„þ!Ýþ |•¹Å›%…#
‰þyþ™ x˜%¦þî „þöìîû ëy xþ™¢y!îû“þ “þîûöìœîû xyëû“þöì̃ îû ¢›y˜Ð

25. (c) !ÝþöìÝþ!˜ £œ öþ™!Ÿîû Ýþy˜– ßþºîûëöìsþf îÄíy‹!˜“þ öîûy† öë!Ýþ
þ™Äyîûyíy£zîûöìëûvþ £îûöì›yöì̃ îû x¦þyöìî £ëûÐ îûöì_« „þÄyœ!Ÿëûyöì›îû
›yey ~£z £îûöì›yöì̃ îû myîûy !˜ëû!sþf“þ £ëû ~î‚ „þÄyœ!Ÿëûyöì›îû
›yey !îöìŸ¡ì¦þyöìî „þöì› ö†öìœ !ÝþöìÝþ!˜ öîûy†!Ýþ ²Ì„þyŸ þ™yëûÐ

26. (a) x!Ù»˜#„%þ›yîû ”_ ö”Ÿ#ëû þ™öì’Äîû îÄî£yöìîûîû ²Ì‰þyîû ~î‚
!îöì”!Ÿ þ™’Ä î‹Åöì̃ îû ‹˜Ä òßþºöì”Ÿ îyõþî ¢!›!“þó ²Ì!“þÛþy
„þöìîû̃ Ð

27. (a) ‹ç£îûœyœ ö˜£îû&óîû ¢¦þyþ™!“þöìc ¢%¦þy¡ì‰þw î¢% 1938
¢yöìœ ò˜ÄyŸ˜yœ ²ÕÄy!˜‚ „þ!›Ÿ˜ó †àþ˜ „þöìîû!Šéöìœ˜Ð

28. (b) îûy¢!î£yîû# î¢% 1942 ¢yöìœîû ›yöì‰Åþ ‹yþ™yöì̃ îû öÝþy!„þçöì“þ
£z!uþëûy˜ £z!uþöìþ™öìuþª !œ† ²Ì!“þÛþy „þöìîû̃ Ð

29. (c) ò¦þyîûöì“þîû !î²Õîîyöì”îû ‹˜˜#ó îœy £ëû ›y”y› „þy›yöì„þÐ
!“þ!˜ ò!¦þ„þy‹# „þy›yó ˜yöì›ç þ™!îû!‰þ“þ ~î‚ “¤þyîû ˜yöì›
1962 ¢yöìœ 11“þ› ²Ì‹y“þsþf !”îöì¢ ~„þ!Ýþ ßþ¿yîû„þ vþy„þ!Ýþ!„þÝþ
‹y!îû £ëûÐ

30. (b) £zœîyÝÅþ !îöìœîû vþzöìjŸÄ !Šéœ ¦þyîû“þ#ëû ç £zvþzöìîûyþ™#ëû
!î‰þyîû„þöì”îû ¢›y˜ Çþ›“þy ²Ì”y˜Ð 1883 ¢yöìœ ¦þy£z¢îûëû
!îûþ™öì̃ îû xy›öìœ ²Ìî!“Åþ“þ £ëû ~î‚ ¢Äyîû ö„þyöìÝÅþ˜y þ™yîû!‹˜
£zœîyÝÅþ !îœ!Ýþ öœöì…˜Ð

31. (b) öîDyœ%îû& £œ ¦þyîûöì“þîû “þíÄ²Ìë%!_« !ŸöìÒîû ~„þ!Ýþ ²Ì•y˜
ö„þw– “þy£z ~öì„þ ò¦þyîûöì“þîû !¢!œ„þ˜ ¦þÄy!œó îœy £ëûÐ

32. (b) ¢yöìœ› !ÞÝþœ ²ÕÄyrÝþ “þy!›œ˜yvþYöì“þ xî!ßþi“þÐ !ÞÝþœ xí!îû!Ýþ



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 11  ›y‰Åþ– 20252

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xšþ £z!uþëûy !œ!›öìÝþöìvþîû x•#˜ßþi ¢yöìœ› !ÞÝþœ ²ÕÄyrÝþ
öÞÝþ£z̃ öìœ¢ !ÞÝþœ/Ÿ#Ýþ „þöìëûœ ¢îûîîûyöì£îû þ™!í„,þêÐ

33. (a) ¢Á±!“þ ²Ìëûy“þ ~˜. ~˜. !þ™ÍÔy£z ¢y!£“þÄ öÇþöìeîû ¢öìD ë%_«
!Šéöìœ˜Ð !“þ!˜ ›yœëûyœ› öœ…„þ !£öì¢öìî !î…Äy“þ !Šéöìœ˜Ð

34. (c) ¢‚!î•yöì̃ îû 264-293 ˜‚ •yîûyëû ö„þw ç îûyöì‹Äîû ›öì•Ä
xy!íÅ„þ ¢Á™„Åþ î!’Å“þ £öìëûöìŠéÐ

35. (d) ¢‚!î•yöì̃ îû 280 ˜‚ •yîûyëû xíÅ „þ!›Ÿ˜ †àþöì̃ îû „þíy îœy
£öìëûöìŠéÐ 1951 ¢yöìœ ²Ìí› xíÅ „þ!›Ÿ˜ †!àþ“þ £ëûÐ

36. (b) “þíÄ îÄîßþiy x!•”®öìîûîû ¢£yëû“þyëû ¦þyßþñîûy‰þyëÅ ˜ÄyŸ˜yœ
£z̃ !ÞÝþ!ÝþvþzÝþ xšþ ößþ™¢ xÄy!²Õöì„þŸ˜¢ xÄyuþ !‹ç£z̃ šþîûéôé
ö›!Ýþ: S†yõþ#˜†îûVéôé~îû myîûy ÷“þ!îû £öìëûöìŠéÐ

37. (a) 1954 ¢yöìœîû ‹y˜%ëûy!îûöì“þ vþƒ ö£y!› ‹y£y!Dîû ¦þyîy
xÄyÝþ!›„þ ~˜y!‹Å ~ÞÝþy!îÏŸöì›rÝþ– ÝþÆöìÁº (AEET) ²Ì!“þÛþy
„þöìîû̃ Ð 1966 ¢yöìœ ¦þyîyîû ›,“%þÄîû þ™îû ~!Ýþîû ˜y› þ™!îûî“Åþ˜
£öìëû ¦þyîy xÄyÝþ!›„þ !îû¢y‰Åþ ö¢rÝþyîû (BARC) îûy…y £ëûÐ

38. (b) ¦þyîûöì“þîû x˜Ä“þ› vþzF‰þ“þ› ‹œ²Ìþ™y“þ– öëy†– öë!Ýþ ~£z ˜”#îû
çþ™öìîû xî!ßþi“þÐ ¢îûyî“þ# ‹œ!î”%Äê ²Ì„þÒ!Ýþ ¢îÅy!•„þ 1035
ö›†yçëûyÝþ þ™ëÅhsþ Ÿ!_« vþzêþ™§¬ „þîûöì“þ þ™yöìîûÐ

39. (d) ‰þyöì¨y!œ ‹y“þ#ëû vþz”Äy˜!Ýþ ›£yîûyöìÜT Éîû ¢y‚!œ– ¢y“þyîûy–
ö„þyœy£yþ™%îû ~î‚ îûb!†!îû ö‹œyîû !˜„þöìÝþ xî!ßþi“þÐ vþz”Äy˜!Ýþ
þ™!Øþ›‡yÝþ þ™îÅ“þ›yœyîû vþz_îû!”öì„þ ¢£Äy!o þ™îÅ“þ›yœyëû
xî!ßþi“þÐ 2004 ¢yöìœ ~!Ýþöì„þ ‹y“þ#ëû vþz”Äy˜ !£öì¢öìî
x!¦þ!£“þ „þîûy £ëûÐ

40. (a) îy£y” %î û !¢‚ ¢y=Ð !“þ!˜ xÄy!vþ!œ ¢%›y!îûçëû yœyîû
ßþiœy!¦þ!¡ì_« £öìœ˜– !ë!˜ þ™îûþ™îû !“þ˜îyîû ö²Ì!¢öìvþrÝþ þ™öì”
”y!ëûc þ™yœ˜ „þöìîûöìŠé˜Ð

41. (b) öšÊþëû̃  ›)œ“þ ~„þ!Ýþ îÊÄyöìuþîû ˜y› öë!Ýþ ²Ìë%!_«†“þ¦þyöìî
ö„ÏþyöìîûyšÏ$þöìîûy „þyîÅ̃  ~î‚ £y£zöìvÈþyöì„ÏþyöìîûyšÏ$þöìîûy „þyîÅöì̃ îû ~„þ!Ýþ
ö×!’öì„þ öîyGþyëû– ëy ~ëûyîû„þ!uþŸ!˜‚ !¢öìÞÝþ› ~î‚
öîû!šÊþ‹yöìîûŸ˜ þ™kþ!“þöì“þ îÄyþ™„þ¦þyöìî îÄî£*“þ £ëûÐ

42. (a) 3-6 ‹y˜%ëûy!îû– 2025 ¢yöìœ 31“þ› ˜ÄyŸ˜yœ !‰þœöìvÈþ˜
¢yöìëûª „þ‚öì@ùÌ¢ x˜%!Ûþ“þ £ëû ö¦þyþ™yöìœ– öë!Ýþ ~›!þ™ „þyvþz!ªœ
xšþ ¢yöìëûª xÄyuþ öÝþ„þöì̃ yœ!‹ myîûy xyöìëûy!‹“þ £öìëû!ŠéœÐ

43. (b) îyöìëûy†Äy¢ ~î‚ ²Ìy„,þ!“þ„þ †Äyöì¢îû ›)œ vþzþ™y”y˜ £œ !›öìí˜Ð
îyöìëûy†Äyöì¢ ²Ìyëû 55éôé70 Ÿ“þy‚Ÿ ~î‚ ²Ìy„,þ!“þ„þ †Äyöì¢
²Ìyëû 80éôé90 Ÿ“þy‚Ÿ !›öìí˜ íyöì„þÐ

44. (a) ›•Ä²Ìöì”öìŸîû ›%…Ä›sþf# ö›y£˜ ëy”î ~îŠéîû 12 ‹y˜%ëûy!îûþ
òßþºy›# !îöìî„þy˜¨ ë%îŸ!_« !›Ÿ˜ó ‰þyœ% „þöìîûöìŠé˜Ð 2028
¢yöìœîû ›öì•Ä îûyöì‹Äîû 70 Ÿ“þy‚Ÿ ë%î ¢Á±”yëûöì„þ „þ›Å¢‚ßþiy˜
²Ì”y˜ ~î‚ 2030 ¢yöìœîû ›öì•Ä ¢›hßþ ë%î ¢Á±”yëûöì„þ vþzF‰þ
›y•Ä!›„þ hßþîû þ™ëÅhsþ !Ÿ!Çþ“þ „þöìîû ö“þyœy ~£z !›Ÿöì̃ îû vþzöìjŸÄÐ

45. (a) öîû!vþç “þîûöìDîû „þÁ™yBþ ¢îÅ!˜Á¬ ~î‚ †y›y îû!ÙÂîû „þÁ™yBþ
¢öìîÅyF‰þÐ

46. (b) ¢Á±!“þ ²Ì„þy!Ÿ“þ 'Ratan Tata : A Life' ̃ y›„þ @ùÌöìsþiîû îû‰þ!ëû“þy
£öìœ˜ í›y¢ ›Äy!ívþz– !ë!˜ ~„þ‹˜ ²Ìy_«˜ xy£z~¢ x!šþ¢yîûÐ

47. (b) £Äyöìœyöì‹˜ xîßþiy˜ „þöìîûé p îÏöì„þÐ £Äyöìœyöì‹˜ !£öì¢öìî
!‰þ!£«“þ þ™¤y‰þ!Ýþ ö›ï!œ„þ þ™”yíÅ £œéôô öšÏþy!îû̃ – ö„Ïþy!îû̃ – öîÊy!›˜–
xyöìëûy!vþ˜ ~î‚ xÄyÞÝþy!Ýþ˜Ð

48. (c) 26 ˜öì¦þÁºîû ¢yîûy ö”Ÿ‹%öìvþü ò‹y“þ#ëû ¢‚!î•y˜ !”î¢ó þ™y!œ“þ
£ëûÐ 1947 ¢yöìœîû 26 ˜öì¦þÁºîû “þy!îûö ì… ¦þyîû“þ#ëû
¢‚!î•yöì̃ îû …¢vþüy öœ…˜ ¢Á™§¬ £ëûÐ

49. (a) ¢‚!î•yöì̃ îû 148 ˜‚ •yîûy x˜%¢yöìîû „þÁ™öìÝþÆyœyîû ~î‚ x!vþÝþîû
ö‹˜yöìîûœöì„þ !˜ë%_« „þîûy £ëûÐ

50. (a) ~£z •yîûy!Ýþ The Constitution Act, 1976 !£öì¢öìî
þ™!îû!‰þ“þÐ

51. (c) (5 – 3) × (12 – 9) = 6
(8 – 4) × (2 – 1) = 4
(18 – 10) × (17 – 14) = 24

52. (b) (3 × 3) + (5 × 6) = 39
(4 × 4) + (5 × 7) = 51
(3 × 4) + (5 × 5) = 37

53. (b)  100 25 25 100 5 6    

 25 25 36 81 5 5    

 25 25 25 25 5 4    

 36 49 16 9 5 4    

54. (c)

55. (b) 27 ÷ 3 × 3 + 11 – 8
= 9 × 3 + 11 – 8
= 27 – 8 + 11
= 19 + 11
= 30

56. (c) ”%öì•îû îû‚ - White
White is sky

57. (a)
58. (c)

59. (c)
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

60. (c)

61. (b) Milimeter  Centimeter  December 
Meter  Kilometer..

62. (d) b a a b | b a a b | b a a b
63. (a) b a b c | b a b c | b a b c

64. (d)

65. (c)

66. (a) 28 + 1 × 9 = 28 + 9 = 37
37 + 3 × 9 = 37 + 27 = 64
64 + 5 × 9 = 64 + 45 = 109
109 + 7 × 9 = 109 + 63 = 172
172 + 9 × 9 = 172 + 81 = 253

67. (a) þ™y“þyîû îû‚ ¢î%‹ îy green, xyîyîû îœöì“þ öîyGþyëû appleÐ

68. (c) „þyîû’ ²Ìí› öÇþöìe ²Ìí› ˜Áºîû!Ýþîû î†Å „þöìîû “þyöì„þ ”%£z !”öìëû
¦þy† „þîûöìœ !m“þ#ëû!Ýþ þ™yçëûy ëyëû “þy£z !m“þ#ëû öÇþöìeç
~„þ£zîû„þ› £öìî xíÅyê 6 : 62 ÷ 2 = 18 : : 4 : 42 ÷ 2

= 8

69. (a)

70. (d)

71. (a)

72. (d) ACTION Ÿ·!Ýþî û C xÇþîû!Ýþ ö”çëûy Ÿöì·îû xÇþîû ˜ëûÐ
73. (a) þ™yŸyþ™y!Ÿ xÇþîû=!œöì„þ interchange „þîûöìœ £öìî

~…˜ vþy˜!”„þ öíöì„þ ¢®› xÇþîû!Ýþ £öìî NÐ

74. (c)

75. (a)  
76. (c) ²Ì!“þ 45 !›!˜Ýþ xhsþîû ‡^ùÝþy îyöì‹– þ™îûî“Åþ# îy‹öìî 7:45

!›!˜öìÝþ– xíÅyê þ™)îÅî“Åþ#!Ýþ öîöì‹öìŠé 7Ýþyëû ~î‚ ö¢!Ýþ
5 !›!˜Ýþ þ™)öìîÅ xíÅyê î“Åþ›y˜ ¢›ëû 7:05Ð

77. (d)

78. (a) 3 5 7

3 5 7

3 5 7

R U Z G
G J O V
I L Q X

  

  

  

  
  
  

!„þlsþ– 4 4 7B F J Q    

79. (c) ‡˜„þ!Ýþöì„þ ‡!vþüîû „¤þyÝþyîû !”öì„þ ~„þîyîû ‡%!îûöìëû ö”…y ëyöìFŠé
4éôé~îû !îþ™îû#öì“þ 3 îûöìëûöìŠéÐ

80. (d)

81. (d) ‰þe«î,!kþ ¢%” = `  31018000 1 18000
100

 
   

 

= `   11 11 1118000 1800010 10 10   

= ` (23958 – 18000) = ` 5958
82. (b) (2R1 + 2R2) = 35 ...(i)

(2R1 – 2R2) = 22

 1 2
22 2R 2R 227   

 1 22R 2R 7   ...(ii)

(i) öíöì„þ (ii) ö„þ öëy† „þîûöìœ 4R1 = 42
 R1 = 10.5
(i) öíöì„þ (ii) !îöìëûy† „þîûöìœ 4R2 = 28
 R2 = 7



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 11  ›y‰Åþ– 20254

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

öŠéyÝþ î,öì_îû öÇþešþœ

   2
2

22R 7 7
7

     þî†Å!›. = 154 î†Å!›.

83. (d) •!îû ²Ì”_ ö‰þyˆ ”%!Ýþîû îÄy¢y•Å ëíye«öì›­
R ~î‚ r ç vþzF‰þ“þy ëíye«öì›­ h ~î‚ 3h “þy£öìœ–

 2 2R h r 3h  
2

2
R 3

1r
 

R 3 3
r 1 3

  

R : r 3: 3 
84. (c) (x !„þ!› ö£¤öìÝþ öëöì“þ ¢›ëûV + (x !„þ!› ö‡yvþüyëû ‰þöìvþü

ëyçëûyîû ¢›ëûV

23
4 ‡^ùÝþy

 (2x !„þ!› ö£¤öìÝþ öëöì“þ ¢›ëûV + (2x !„þ!› ö‡yvþüyëû

‰þöìvþü ëyçëûyîû ¢›ëûV 23
2 ‡^ùÝþy

 (2x !„þ!› ö£¤öìÝþ öëöì“þ ¢›ëûV + (2x !„þ!› ö‡yvþüyëû

‰þö ìvþ ü ëyçëûyîû ¢›ëûV 23
2 ‡^ùÝþy  23 2

4
  ‡^ùÝþy

23
2 ‡^ùÝþy

 (2x !„þ!› ö£¤öìÝþ öëöì“þ ¢›ëûV  23 15
2 4

  ‡^ùÝþy

31
4 ‡^ùÝþy = 7 ‡^ùÝþy 45 !›!˜Ýþ

85. (b) ²Ìí› ˜œ myîûy xöì•Å„þ ö‰þïîyF‰þy ¦þîûöì“þ ¢›ëû œyöì† = 3
‡^ùÝþy

4 !Ýþ ˜œ 1 ‡^ùÝþyëû „þöìîû  1 24
6 3

  

2
3 x‚Ÿ ¦þîûöì“þ ¢›ëû œyöì† = 1 ‡^ùÝþy

1
2 x‚Ÿ ¦þîûöì“þ ¢›ëû œyöì†  3 1 31

2 2 4
    ‡^ùÝþy

       = 45 !›!˜Ýþ
 ö‰þïîyF‰þy!Ýþ ¦þîûöì“þ ¢›ëû œy†öìî = 3 ‡^ùÝþy 45 !›!˜ÝþÐ

86. (d) 6 ~î‚ 54 éôé~îû ›•Ä x %̃þ™y“þ

6 54 6 6 3 3     
= 6 × 3 = 18

87. (c) •!îû !þ™“þyîû îëû¢ = 3x îŠéîû ~î‚ þ™%öìeîû îëû¢ x îŠéîû
12 îŠéîû þ™öìîû !þ™“þyîû îëû¢ £öìî = (3x + 12) îŠéîû ~î‚
þ™%öìeîû îëû¢ £öìî = (x + 12) îŠéîû
2(x + 12)  = 3x + 12

 2x + 24  = 3x + 12
 x = 12
þ™%öìeîû î“Åþ›y˜ îëû¢ = 12 îŠéîû

88. (b) A – J = J – P
A + P = 2J
 2J = 48
 J = 24
¢%“þîûy‚ ‹öìëûöìŸîû îëû¢ 24 îŠéîû

89. (c) 1 þ™yöì„þ ëyëû 88 1000
1000
 !›Ýþyîû = 88 !›Ýþyîû

‰þy„þyîû þ™!îû!• = 88 !›Ýþyîû

222 R 887   

 7R 88 14
44

     !›Ýþyîû

90. (a)  2 o 2 o 2 o 2 o 2 o1 1sin 30 cos 45 4tan 30 sin 90 cot 60
2 8

  

      
2 222

21 1 1 1 1 14 12 2 82 3 3
               

     

       1 1 1 1 1 14 1
4 2 3 2 8 3

       

1 4 1 1 48 28 3 2 24 24     

91. (a) •!îû  AB …%¤!Ýþ ~î‚ AC “þyîû ŠéyëûyÐ
“þy£öìœ– AC = 100 !›Ýþyîû ~î‚ ACB 60º 
•!îû– AB = x !›ÝþyîûÐ “þy£öìœ–

oAB tan 60AC 

x 3 x 100 3100    !›Ýþyîû

¢%“þîûy‚ …%¤!Ýþîû vþzF‰þ“þy 100 3  !›Ýþyîû
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——————

92. (b) •!îû  AB ~„þ!Ýþ !›˜yîû ~î‚ C !î¨% öíöì„þ “þyîû Ÿ#¡ìÅ!î¨%îû
vþz§¬!“þ ö„þy’ 

“þy£öìœ– AC = 100 !›Ýþyîû ~î‚ AB 100 3 !›Ýþyîû

oAB 100 3tan 3 60AC 100       

!˜öì’Åëû ö„þy’ = 60º

93. (d) BC 8 8Ktan A AB 15 15K  

BC 8K   ~î‚ AB = 15K

     2 22 2 2AC AB BC 15K 8K    

 2 2 2225K 64K 289K  

AC 17K 

AC 17K 17cosecA BC 8K 8   

94. (c) OA OB OBA OAB 35º    

 o o o oAOB 180 35 35 110    

 o o1 1ACB AOB 110 55
2 2

     

95. (b) ‹y›Åy˜#îû ‹§Ã£yîû = 16 ²Ì!“þ £y‹yöìîû
!˜öì’Åëû ‹§Ã£yîû

   16 16 125125%
1000 1000 100

   

20 20100   ²Ì!“þ £y‹yöìîû

ßþ™ÜT“þ£z ~£z ‹§Ã£yîû £z‚œÄyöìuþîûÐ
96. (d) ¦þyîûöì“þîû ‹§Ã£yîû = 33 ²Ì!“þ £y‹yöìîû

£z‚œÄyöìuþîû ‹§Ã£yîû = 20 ²Ì!“þ £y‹yöìîûÐ

!˜öì’Åëû  33 1000% 100 % 165%1000 20   

97. (a) 1 1 1A : B: C : : 6 : 4 :32 3 4 

C éôé~îû ¦þy†  3624 13  = 144 Ýþy„þy

98. (c) •!îû e«ëû›)œÄ = 100 Ýþy„þy
“þy£öìœ– •yëÅ›)œÄ = 120 Ýþy„þyÐ
Šéyvþü = 10%

!îe«ëû›)œÄ  90 120 108
100

    Ýþy„þy

¢%“þîûy‚ œy¦þ% = 8%
99. (a) •!îû !˜öì’Åëû ¢‚…Äy!Ýþ = x Ð

“þy£öìœ– x éôé~îû 90% éôé~îû 110% = (x – 50)

   90 110x x 50
100 100

    

99x x 50100   

 99x xx 50 50100 100    

 x 50 100 5000   

!˜öì’Åëû ¢‚…Äy!Ýþ = 5000Ð
100. (c) ›öì̃  „þ!îû 11 £z!˜‚öì¢îû †vþü = x

“þy£öìœ 12 “þ› £z!˜‚¢ þ™ëÅhsþ †vþü = (x + 9)
12(x+9) – 11x = 129

12x 11x 129 108 x 21     
11 “þ› £z!˜‚¢ þ™ëÅhsþ †vþü = 21


